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Sk R s | R (kg) 48 (1) &E | wE | zE | E (HEA)
30100 722 A 60 4,428 76 76 70 B 604
Y3002 =H (&) 1 84 54,166 1,080 756 54| BM 84kg
Y3110 (Z234F (%) ‘ 1 216 432 432 432 | BN lkg

31100 BH% 50 3, 996 972 756 756 | B 511 ]
31200 (LiER3E 4 238 11 11 11 BA 223k

Y3014 | KiR%E 1 108 22 22 22| BN 53

Y3014 KiR%E | 1 194 32 32 32| BH 64 |
31700 | % ¥~ 120 10, 314 972 864 756 | BN 12— R
31900 A X 13 4,288 486 378 119 | BA 13kg ]
36800 HoX 5 ‘ 24 9,612 540 432 162 | B/ 24kg
Y3041 HLHoX x5 | ! 432 108 108 108 | & 4kg i
34400 k= b 6 2,138 194 194 194 | B 115y 2
34400 b K 24 8, 554 378 378 324 | B 24kg

34100 | #1L 12 2,268 38 38 38| B 607 N
34200 | FE/I 106 25, 407 270 238 216 | BN 106kg
34270 | Rw &k —= 10 1,890 38 38 38| B 507 |
36260 (= Lidb7- 7 500 70,200 1,404| 1,404 1,404 B/ 504 — %
36600 mERE 131 15, 579 140 | 108 108 | B 131kg
34780 BREE S H A L 121 42,014 130, 108 82| &M 40445
34930 LA 14 5, 551 130 130 108 B 5k
34800 BL B 12 13, 392 119 | 108 108 | B 1200w b
43900 U 33 5, 875 756 594 389 | &N 11— %
39200 % % 6 1,296  216| 216 216/ B 6kg ]
46108 EMIONHE 10 8, 856 324 324 162 | B 345y 7
71011 R FL—5 40, 068 59 59 19| BN 710K |
71021 #EFd b ‘ 1, 458 27 27 2 BRN 604 B
71030 K5t 9,072 151 130 130 | B 657
21032 FIEF () 1,512 54 54 43 BA 304
21150 | LIiE - 1,188 76| 76 43| B 208 |
Y5010 obix (&) 6 2, 381 540 540 162| B 6kg B
30100 7\ Z A 77 5, 443 65 59 54 EIRE 944
30300 AB L 100 14,688 1,620| 1,620 1,296 AE 104 —2 |
31100 H3¥ 30 1,026 648 648 378 |EIRE 24— R
31200 [liE3E 4 1, 080 54 54 54 |BIR 2048 |
33500 T HHE L 4 389 22 5 5 | & 364

33810 HHEE ’ 8 1,728 54 54 32 \EEVR B 4048

3700 |Fp Y 200 12, 744 756 648 540 |BEIR R 207 —2 |
Y3055 Ly FE gy 12 486 65 32 2 EEE 1208
31800 ZHILAE 8| 4, 968 130 130 119 | ERS 4048 ]
31950 HAZ ‘ 18 4,644 864 756 756 |t [E 64— %
131900 RF i ‘ 9 2,160 140 140 108 | EEVE R 173 (500g) |
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G4 e HRFEAMm S =
= 4 s | (e) ) sl | i mm | E (i)
31930 R 1,296 13 43| 43| 1EH 3088 |
131930 ¥ S 3,888 3,888 3,888 3,888 (A 14— %
32800 |iZ & S 10 3, 838 54 32 32 |5 IR 1003
34300 | 723 2L 20 5,616  1,404| 1,404 1,404 fEA A — A
34400 k-~ R 12 3,942 1,350| 1,296 1,296 IR 5 35— A
34460 |R=bE L M 10 4,925 108 | o7 97 | BER B 48,5y
34100 | #AK 50 10,368 1,296 864 864 | E I 1047 — %
34100  #1/I B 30 2,322 | 486 486 270 BB B 64%
34500 E—wy ‘ 6 3,299 | 59 54 54| FER B 5945
34520 FRE—< > L 4 1,512 1,080 432 432 IR B 9 b A
37200 Lk 9 A 2 L 12 4,104| 1,404 1,404 1,296 37—
33400 | L & % 11 3, 629 130 130 130 | Eis 28/1H
33420 U —2U—TLHRA L 6 2, 592 1,296 1,296. 1,296 #& ] 2ére—=R
38100 LMt 8 4,590 76 65 38 | BTl 80,5 7
38910 7= H DI 5 1,755 38 38 32 |\ EIRE 504%
31310 | AT 8| 1, 944 65 65 32 |1 1045
31500 /M3 1.2 3, 564 59 59 59 | EEIRE 604
32500 ZoiE 1 648 65 65 65| K4y 107
37560 | BBIT 1 3,456 432 432 432 | K4y 85y 7
V4007 T—AF L% A 20 15,120| 3,780 3,780 3,780 |m=—— 4F—% |
Sk
At 2,085| 478,505 j




